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Based on the comparison of the A5l Jalas :;3 Jol) e A3l il
reaction progress in the energy diagram x,s*" i‘.‘.‘J""‘EH _,,ﬁﬁ i ﬁ ™ ;j ol il
below, which of the following describes s ) de
the effect of the enzyme on a chemical
reaction?
Energy Diagram Adlal! tatase
Activation 3
e
E energy po.
i B e W
with encyme o Fo A
= without enzyme el P A )
Reaction progress 1 MENELT| -

el Jo bl Jastonl) 28Ua wiiY) lis (iadds

The absence of enzyme decreases the activation energy of a chemical reaction 1
el doliall Jostnl) da oY) 3505 22

The presence of enzyme increases the activation energy of a chemical reaction
el Jolel) Lol 23l oY1 355 pinii;

The presence of enzyme decreases the activation energy of a chemical reaction 3
el Jolill latul) Als Lo a3l 35ms S5 Y

The presence of enzyme does not affect the activation energy of a chemical reaction 4

Which of the following substance
produces OH™ ions when dissolved ¢ elall gﬁ 1451:.33 s OH -i:'IU£Ii E.‘“L"' o Baladl L

in water?

The base Baslall 1
The acid Lraenl! 5
The salt e-_d.d'l 3

The buffer FL.MH



What is the role of the molecule below fDNA 1) #Leic) ‘l,ﬁ slial aylgll sl g la

in DNA cloning?

- MNr
Restriction { ( -~ Restriction . NNr
enzt_rmesite\l\] R 2\ ™ enzyme site phoall g ] a3sa ( :r YAV ,:‘_ adaal) o3l ads
( m N A
~ b

:\ & Restriction >3 :\
‘:-. B enzne sige S daghe e '-\-\ plazll sl i3gs
L. fatiboic - § 3 ~ e Y

Restriction #&= == resistance gene f) ezl sl adgs 2:-‘ goels (

enzyme site 'S"Pf‘r ) o -\ rfJJ

U“JJJ 'L“'u':p{‘ J

Gl Adall Jaly I Jeaall DNA L Jas
To carry the foreign DNA into the host cell 1
tnall Gl bl ) Adsiaall A8 aas
To identify the host cell that has taken up the gene of interest >
s adf e DNA I jace sian
To identify the source of DNA as foreign 3
cilasit¥) ke e gl S Liall DNA I Jas

To make the foreign DNA susceptible to digestion with enzymes 4

What percentage of nucleotides in the human pskad) (B Bagagall Slaiplspl) (a Aqglall Apudll La

genome are responsible for encoding proteins ",s Bagagall Cilidigull ,uddl 16 Al ually (gpdiall
in the body? € aal)
%2 |
%4 5
%10 5
%6 4



Which hormones are released from nerve cells Ansanl) LNAD 83,40 A0 Siliga gl o &{!

rather than from endocrine glands? ¢ placall 23l (e Y

Oy plly saill 5ad

Growth hormone and thyroxine 1
CiaY s o)l

Morepinephrine and epinephrine P
OsgiaSe¥ly Joall oY sliaall Gga el

Antidiuretic hormone and oxytocin 5
csalSlally oY)

Insulin and glucagon

N

Which of the following is not a

fela i) pailad ¢ Laa &l
characteristic of enzymes? o On ol (o Las g

Speed up a chemical reaction Jelall Ao ju

Not consumed in the reaction  Jelall 2 lgmsy

Cannot be used again saf 5y adadns) S

w

Specific to one reaction dals dolin A lgia (S aiian 4

Which two elements are always found akaal) gs Wity glaagih A ol jadedl La

in amino acids? IR

Carbon and oxygen caesily el
Nitrogen and sulfur  «u)slly el

Sulfur and oxygen oSy 1y sl
Hydrogen and phosphorus — jeduilly fuag il

iSOV N




Which substance would be extensively studied (inda (€80 (apdics A0 lgal) e %g‘!

during a college organic chemistry course? Shaaladl A Agguanll plial ) Ra oL
Water 2Ll 1
Glucose  jsSslall 5
Sodium a 322 gacal] 3
Oxygen Y
4

Which of the following is a .
ol G Sl (o Las gl

disadvantage of hybridization?

iliall dall sl Lo feagl)
Hybridization is harmful to the affected organisms 1
S g gl Sl cuagnll
Hybridization is time—consuming and expensive 2
Hybridization is technically difficult to perform 3
Al Amaigl) (e 2ad BT gl

Hybridization is inferior to genetic engineering 4

Which is the process that scientists use to produce e T plaladl lgaadiey ) Alaall Lo
large numbers of recombinant DNA molecules? TSl dlas (fy9 e Slisa O Bl
Polymerase chain reaction ebosiall 33l el 1
Gene cloning adl Flumay) 5
Recombinant DNA technology «uSgll alas (595l (imeall 4a 3
Gel electrophoresis el !




Which do scientists use to cut genomic DNA into DNAD) akil clalall aqaiiog odll La

smaller fragments to isolate specific genes? Ciliaa Clia 5l el ol ) Al
Transgenic bacteria Gy Alama Ly .
Recombinant DNA (€Al dlaa 5o5% nan
DNA ligase DNAJ Loy il
Restriction enzymes all las il
y bl il il 4
For what purpose is DNA fingerprinting used? Al gl Aadd) asiiad A8 4’:’
To sequence DNA from bacteria oSl s DNAJN (s gl 1
To identify single nucleotide polymorphisms L3l cilasgl€eall JISET 2aes cYla 2uoas] 5
To separate DNA fragments DNA Il chial (aadl 3
To identify individuals who have committed crimes Abadl 1a)) il a8 A paal 4
The antidiuretic hormone regulates . . Jaad) by aliaall & gagd @
Sodium  apisall 1

Water sLall

2
Glucose  Sshall 3
Calcium = agdisll 4

Which endocrine gland would provide a burst of energy to PO OR md 2l gl 52 gi

a person moving out of the way of a speeding bicycle? “ - . .
p g Y p d y e s Al J;U'ECF Gﬁ-ﬁuﬂﬂm

Thyroid a8yl 1
Adrenal 2yl 5
Parathyroid a8 «ljlall 3

Pituitary I EG|



Which macromolecule is involved in v il 8 Q,s Ay gl adiall pgall L

nearly every function in the human body? ?Ij:tﬁ Gl

Nucleotide A% gal€ g i)

A
Lipid Ggadll 5
Protein Ot sl 3

Carbohydrate  <uljaus Sl

Starch is the major carbon storehouse in plants. . s e
L B bl (g (3 Sl 33

Sefleall Ao sty ol 13 Le aaad) culas cupal
O Qb i SN B gl L) puli
s peat] Jatlas & s 5 Baal Sl Gl
Slagions Guld 15 gl sl gl (Jaikal)
LAY B pSlly Sl

Bl Ogfall gl Joaghs 8 SN Sl g (gl
Tl sda o

Experiments were performed to determine if
trehalose might requlate starch production in
plants. Leaf disks were incubated for three
houwrs in sorbitol (cnntml}, sucrose, and
trelahose solutions. Then, levels of starch and
sucrose in the leaves were measured.

Which of the following conclusions might the

researcher have reached based on these data?

Production of Starch and Sucrose ety el Ll 2l

L starch | =l |
[ Sucrase B B i :
15 -1
BT 11::
g i
5 L3
— | -— ==
0 soluthon  Sucrose tion Trihalose solution - B i L L e T i

3Kl ) aheg ) L 2 5y € sl mid

Sucrose solution decreases starch production in leaves and increases sucrose production 1
Lo 30 sy 59 K ) (midg sW1 3 L) ) alles 30 e e

Trehalose solution increases starch production in leaves and decreases sucrose production almost entirely 2
bl 3 5Kl ) Ll ) el Al Jebas v

Trehalose solution increases starch production and sucrose production in leaves 3




DN el 8 5l e Jo LA e 38 1580 300 A

Leaves always showed less starch than sucrose in all three solutions 4

What is the genotypic ratio of the 2 agall bl (B Jeadl) A Aal) Ll s L
offspring in the cross illustrated below? ¢alidl P...uﬁl
Heterozygous white U PEVL
grapefruit cliadl callac,
w w W w
= w Ww ww X
Eg P JJ w Ww ww
L ;
& El 3
== ! w Ww ww 1 4w Ww Ww
1:3 4
1:1 )
1:2:1 3
1:0 2




The central dogma is that the information in Gliall B Sasagall Clagheal) of (el Tasal) g
genes flows from DNA to RNA and RNA to o Adag (Gaml) gl pasal) I DNA ) (e 384
proteins. In the figure below, which letter SMRNA 1) s cia gl coliaf JSal) 3 . culis

refers to the mRNA?

Ok moee ( A
to form proteins) g

od)
S, TG

> 0O m N
NwWN

The graph below shows the blood glucose levels 2 jsglall culigiua slial () Jilail) mdagy

over a period of time. Which hormone might g (a {.gi Ol e B8 saa s addl
have caused a sudden surge as indicated by the kel gL b cad) (9 8 A0
arrow? Cagualls ad) jLial)
Blood
Glucose
Level \
Time gl
Insulin Sl 1
Glucagon CrealSgladl 5

Antidiuretic hormone  Jsdl )10y sl Ggapdl 3
Growth hormone saitll (yaash 4




In the figure below, which letter indicates the
amino acid hormone?

Awi



